CENDRIER COMPRESSEUR HM

CODE DESCRIPTION N°| P.P.H.T.
SEPO001452 PLAQUE CACHE MOTEUR 1 17,16
CELC000038 CABLE BRULEUR 7 POLOS EV GAS 2 8,65
CFOV000134 MOTEUR 10 W TRANSMISSION 1/180 3 111,00
CFUC000043 JOINTS ELEMENTS UNION FONTE DOMUSA NG TF 4 5,69
CTOR000088 ECROU HEX. DIN-934 M6 ZINC 5 0,97
CTOR000122 RONDELLE PLANE LARGE M6 6 0,65
SEPO001831 PLAQUE DE GLISSEMENT 7 12,00
CTOR000092 ECROU HEX. DIN-934 M8 ZINC 8 0,98
CTOR000080 RONDELLE DIN-9021 M-8 ZINC 9 0,75
SEPO001488 PLAQUE ACCROCHE MOTEUR 10 16,04
MAIS000120 ISOLANT MOTEUR COMPRACTEUR MOTOR PL/1306-P PS11E 11 4,67
SCHA008817 FIXATION AILE 12 1,87
SAIS000157 BUTEE SILENCIEUX 13 2,40
SCHA008813 AILE GAUCHE 9 14 17,53
SCHA008814 AILE DROIT 9 15 17,53
SCON001311 AXE VIS SANS FIN 10/16 16 115,00
SCON001332 AXE VIS SANS FIN 25 16 123,00
SCON001314 AXE VIS SANS FIN 43 16 135,00
SAIS000140 JOINT TRESSE 10 17 8,97
SAIS000141 JOINT TRESSE 16 17 10,27
SAIS000142 JOINT TRESSE 25/43 17 11,57
SCON001325 TIROIR COMPRESSEUR 10 18 123,00
SCON001329 TIROIR COMPRESSEUR 16 18 131,00
SCON001330 TIROIR COMPRESSEUR 25 18 138,00
SCON001333 TIROIR COMPRESSEUR 43 18 146,00
SEPO001824 ANGLE DE FERMETURE 10 19 7,66
SEPO001825 ANGLE DE FERMETURE 16 19 9,20
SEPO001826 ANGLE DE FERMETURE 25/43 19 10,72
CTOR000105 VIS TETE EX. DIN-933 M10 X 60 NEGR. 8.8 20 0,88
CFER000156 JOINT TORRIQUE VMQ 70° ShA 58 X 6 mm 21 12,09
SEPO002312 SUPLEMENT DE LA PORTE 10/16 22 11,99
SEPO002313 SUPLEMENT DE LA PORTE 25/43 23 11,99
SEPO001813 CAISSE COMPRESSEUR NG 10 23 89,00
SEPO001789 CAISSE COMPRESSEUR NG 16 24 98,00
SEPO001816 CAISSE COMPRESSEUR NG 25 24 107,00
SEPO001819 CAISSE COMPRESSEUR NG 43 24 116,00
SEPO001812 COUVERCLE CAISSE COMPRESSEUR 10 24 30,00
SEPO001788 COUVERCLE CAISSE COMPRESSEUR 16 25 32,00
SEPO001815 COUVERCLE CAISSE COMPRESSEUR 25 25 33,00
SEPO001818 COUVERCLE CAISSE COMPRESSEUR 43 25 35,00
SEPO001451 PLAQUE COUVRE CENDRE INTERIEUR 26 12,31
MAIS000140 JOINT CAISSE COMPRESSEUR NG 10 27 12,88
MAIS000141 JOINT CAISSE COMPRESSEUR NG 16 27 13,77
MAIS000142 JOINT CAISSE COMPRESSEUR NG 25 27 15,10
MAIS000143 JOINT CAISSE COMPRESSEUR NG 43 27 16,43
CFER000067 CLIPS SUPPORT POIGNEE 28 0,75
SEPO001497 MANETTE TRACTION RESERVOIR CENDRE 29 12,88

- 303 -




CENDRIER COMPRESSEUR HM

- 304 -



